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7. Simplified Questions with Short Answers (10 points):

a. What are differences among outbreak, epidemic, endemic and pandemic? Please
give a solid example for each one. (5 points)

b. What are the 3 major epidemiological cycles of arbovirus infection, using one
example (5 points).

8. Thinking Questions (10 points):

a. Enteroviruses circulate in Taiwan for many years. Every certain years, we can see
more severe and fatal cases occurred maostly in central and southern Taiwan but
not in Taipei City. Would you please think what are possible reasons to explain this
epidemiological characteristic and use one study design to find the right answer
(5 points).

b. Up to now, all the zika virus cases in Taiwan are imported cases. What are possible
future trends of zika virus infection in Taiwan? Would you please guess it and
provide your thinking rationale. (S points).
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